
Analytic Bee
Sample Questions

1.A scared rabbit is hopping home. He has 36 meters to go. If
every jump is one and a half meters long, how many jumps does
he have left?

       A) 12
       B) 36
       C) 25
       D) 24

2. You have the set of all the integers from (−16) to 26, inclusive. You
take two of the integers and subtract one from the other. What is
the greatest difference you can get? 

A) 42     B) 56    C) 10    D) 36

3. How many natural numbers have the following property?
If you divide the number by 12, the quotient and the remainder are
equal.

A) 15
B) 22
C) 11
D) 4

Answer key: 1 - D, 2 - A ,3 -Answer key: 1 - D, 2 - A ,3 -    CC


